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SBI Clerk Prelims (Memory Based Papers) 2022 Mock- 03

Directions (1-5) : Raferfea STardt #7 samgde steaa= w2 sii A= R 17 ot o S &

AT oAk 97T P, Q, R, S, T, U 3T W U JATHIT HST & AT AT 7 THT 9 ¢ 1o 39 a7 T G g Fil
AT g AToheT 9T Tei <l %7 § gl P 3T R % 19 a7 oAf<h 95 81 S, RH a7 ATh X d3T1 81 S, P F e
Tol d3T g1 T, Q & 970 F fE T 9T 927 81 W, T F A9 937 g1 W, P F 18 F8i 93T 2|

Q1. Rzfarfea & & & U 13 & S €I qX 937 87
(@S
(b) R

©9Q
()W

(e)%ﬂﬁ@fﬁ—%ﬁ

Q2. Raforfera atwr It § & 9 = Rfsm &R & 91+ § o7 Taf o a9g a9 8| Refafaa & 4
FIN T STIST S q9g q qaTaq 721 57

(a) R-S

(b) Q-U

(c) S-P

(d) W-T

(e) P-W

Q3.RF a1¥ & 9™ 9X R &k U F #ex foanaw =af<e 45 87
(@) Th

(b) =T

(c) 1=

(d) T &t

BOEEEEIEE]

Q4. IR P& L& I gU G AR FUTTHA A arA1ad 9T H 98 8, At foha safeat it Rufa srafafda
Al § (P & AEHN) ?
(@) Th

(b) 7% &

()&t

(d) i

(e) =X

ALL EXAMS,
Q5. fReforfera # & wi9-a1 Fo a7 82 ONE SUBSCRIPTION.

I.S, U 3ae 937 g
II. R, P T4 & AT &9 9T 927 &
I1I. Q ¥ T & &= FIE Ag! 427 &

1|
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(a) Fa |

(b) I1 3T 11 T

(c) &Y 1, 11 3/ 11
(d) Fa= 11

(e) FIE ot 7o LT &

Directions (6-8) : 1= fXT T W% T & T FI i< I a1 a1 fAewd fag g &) straedy g 1w v
FT T ATAT &, WA g F qaATT T4 & I3 Feiia grar gi1 ey et & 7 i e a9 = & R g
fAsat # & F-a7 e am &1 & J19 a4t f aarg e e R T st wartds €8 sgaer

FLAT Bl

Q6. v

FAA T 9T T3 B

FIE T T3S Aal gl

FaT T U2 Fie 3|

A

I % 92 213 5! 2

11, =t oE et 213 gl gl Tohdd 2l

(a) =TT e Ao 11 SATE0T FaT §
(b) =t e [ ST 11 TET SITET F4d &
(c) Tt AT qT = 13T 11 SIgEoT F2dT &
(d) == et ewT [ TgEor #3ar 5

(e) oE 7 T Moy [ 3T T 2T 11 STHLT F¥al g

Q7. %Y

Tt aTe UTST 2

T TG @l TRAT TTSE &l

Feg TIAT T TR 2

Aot

L. F= TRAT 974 &l &

I1. T 7T 9 2|

(a) Tf Faer Aoy 11 a0 Feal &
(b) Tz Ao 1 &2 11 ST STTHT Fd &
(c) T2 a7 7 Aot 1 97 11 &0 F2ar g
(d) T2 Faer AewT [ Eor #3ar 5§

(e) Tf< T a7 Aoy 1 3l 7 &1 11 a0 Far g
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Q8. ®T-:

Faer [rew F gl

FAT T A (Hh gl

FAA T, L A g

Ao

L. T T A Aol 2l

1. F I < 2

(a) =TT e Ao 11 SATE0r FaT g
(b) =t e [ 3T 11 TET SITET 4 &
(c) Tt =T AT Ao 13T 11 SIgEor F2aT g
(d) Ff Faer AoFT [ a0 F2aT &

(e) ofE 7 a7 Moy [ 37T T 3T 11 AT FLaT &

Q9. T fAf2ra T & “WDQF” #I “EXGR” F €T | Hicax, {437 SI1aT § i “BGTY” F “HCZU” ¥ €T § Fed g
3T ST 8, 97 “QDFK” 9% ¥ forg e 4w gem?

(a) FRLG

(b) ERGL

(c) ERLG

(d) GLER

(e) =7H H TS gl

Directions (10-14) : Fafrfaa ST &1 SATYES STeqaq= FL i< A= T 7T 7w F AL ¢
UF d § AT SARAT o AAT-TAT Tg FATd UHST, SHUH, STSTUH, TSTUH, Teerdh, TTei 3 T (FrATard
TETAF) gl ATCTAT T HH gl g ST HUL (&IT TAT & TTHT, THST Ga9 q18 IE ¢ A AT Fa9 HS I3 gl
F, E & 9 98 F1¥g g AT SISTUH § J138 75! gl B & IY <Rl i §&4T, D § Hg SATHAT 6l §&qT &
THTT g1 C, B ¥ FAS §, AT 31 HiAE A5l gl A, G| 3% TS Bl

Q10. G 3T C ¥ = e =af=p Tifeha g2
(a) i

(b) FT< 7ET

(c) o=

(d) =T

(e) TH

Q11. Faferfea & & &9 Sisfiuw 87
(@) G

(b)D

(A

(d)B

(e)ﬁﬁ@fﬁﬂ_ﬁ
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Q12. B 3iX E ¥ = wxifaa =afReat it g, & afs sfveat it dear & a6 2|
(@A

(b) C

()b

(d)F

(e) T7H & ®IT el

Q13. fAwferfET o # X & A 70% & qu § ok @it o aqg a9 & e ¥ asw
I T q qefeT T8l &2

(a) SfTU# - B

(b) TSftu# - D

(c) THET- A

(d) T&a - C

(e) T - E

Q14.7fx C, STw & G AT § o F, TAST & &afaa & 91 361 v E Rafafea § & g @&6fea 82
(a) TR

(b) TererF

GRIEL

(d) Sfrow

(e) =7H H TS gl

Directions (15-16) : 7 Wi &, FI1 & AT qeat & 1= Gaer fe@mam 147 1 7441 ¥ 91 ¥ Ay o
T g S AT

Q15.

PY:

A<D=W=R:¥YzH> D=K:M=V>H
fread:

I: R=K

Il: D<M

(a) 7f% Fae AT 19T B

(b) (= Faer AR 11 97 §
GRIERIEIEECIEIB I
ORiEEEREECIEREEIR I E
(e) =fe fAoh [ T 11 ST 97 8
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Q1e.

DY:

AzF=H ;J<l=FEM=B=L
frep:

- L<M

Il: H=J

BORIEEEEADETI G0N

(b) 7% Fae MRy [1 9T &
GRIERIKAREC R
(dazaar At Isieaginaa g
(e) T Heh [ 3T 1 1 9T 8

Directions (17-19) : Faferfera s &1 samga® steqas % i A= fRw 1@ ot F 39 &
T A F uF AR A A aae T A9TT A, V, T, R,QW, X, YZI V, ST A | fAaTea g, X SHRT g7 g 1 Y,
W T faeez-za-at g1 Q, R T TUar g1 R, T il U==ieX g1 A, W &I 19 g1 V FT gl U T 3T UF ol gl

Q17.3fR T, L At &, a1 T, Y & Forgy e wisifera 82
(a) T&T

(b) =T

(c) fr=r

(d) =T

(e) et w21 o ST Jrear

Q18. X, Q & fohg Yo e fera 872
(a) foaT

(b) 7

CEGSEuEI

(d) @re

(e) et w21 o ST Jerar

Q19.V, R¥ frg TohX G fara 872
(a) F=

(b) d=Hax

CEGSREII

(d) J=HhraT

(e) Rt a2t T ST ehar
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Directions (20-24) : Referiera s &1 samga® steaa= i< 3T 7= g 17 i F S &

=9 <R &1 quTEiaT AREA, RS & yers § ot ot 8, § 70 v 4% 8 T s sfeat i awe
T8I dfh-17 P,Q,R SR TS ¥ I At 7 @ Iferor T AT 21 A, B, C, D 3fi¥ E ufxh-2 # 3¢ faemw
F ST ITE EIHT 9O &l STET Agl 1o THT AR 6T 77 | i1 Gfeh-1 § 95 =Af<h, dfe-2 § 98 AT r
& 37 37 B o dfke-2 § 9% =fxn, 9fte-1 § 9% safegt i e sepe )

R T {@ I =T<h &l 3T g ST C o 970 F O €A 92 97 8| E 3f% CF 1= a7 =Afw 9 g1 D 3 C Feeaw
TETET T5t gl Q T 31 a1 93T § ATehe [ohel Sifa® BT 9T A5l 93T 21 A, B ¥ 10 § gAY €19 X 937 2|
S T @ B i 3 gl gl

Q20. Q¥ T fFaw =Rr F &7
(a) &

(b) =X

(0 Th

(d) =

(e) T 72T

Q21. Rwferfea ®# & #19 € F Meheaw TSIl § § UF 6l K S« §?
(@Q

(b)P

(AR

(d)S

(e)%ﬂﬁ@fﬁ_gﬂa

Q22. Mwffed wi= & & A= T AT alt® & 9919 § i ST UF 99g a91d 8| Mefiad § § #i
S 99g ¥ gatq Agl 57

(@Q

(b) S

()P

(A E

(e)B

Q23. P % fawvia: faadia =i+ da1 8?2
(a)B

(b)C

(c)E

(d)D

(e) Eﬁ@fﬁﬂ_@
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Q24.S 3 Q F W fohaw AATRF 5 87
(a) T T2l

(b) =X

(au=

(d) o

(e)%ﬂﬁ@f?ﬁiﬂ—ﬁ

Directions (25-27) : Rurffea v #i= fRw 7w ui= ersai o< sl €, Rl asat v stegae 3
I Al o F sae s
PACK WRAP BELL CAMP BULK

Q25. I(T JT | TAL AT & Tgot AT T 7T FT  TAL AT & A19L AT F A1 e e € (3R
FUHTAT SGHAT ¥ FATATR) ?

(a) i

(b) TF

(c) =T

(d) =

(e) T2 ol

Q26. afx fRT T arsat FT I FH H ARy fFham ar g, 9 T s | ¢ F 974 f7@rE 9 G, v
FRaffea & & FF-a7 a5 91¢ AR F HET FI?

(a) Camp

(b) Bulk

(c) Pack

(d) Wrap

(e) =7H H TS gl

Q27. 3% RT 7T AT 915 |, TAF 5% F TEA STAL Tl SRS AUHTAT HGAT  SATHATL ST TgH qTel &AL
I T ATAT &, T 39 T T fha=T o1s8 @ & LEaId 87

(a) &T

(b) TH

(0=

(d) =1

(e) TTH & FrE T

Directions (28-30) : Ffrfea ST &1 saga® steqae F 3T A= fRw 1@ wori F S &

Tg ATHAT T TS M-I gl & ATHAT & a9 C 3T B & &1 g 42 s asi7 arar =afts B H
ZoFT gl A, F ¥ T ST<h 9T 81 el Uah o7 1<k &7 a9 A 3fi¥ CF &= g1 D, E & 9T § 3T I9H1 a7 F AT
g § 30 R e g1 E &7 a5 D | 4 fohef s &9 2
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Q28. Mt & & fiar a8 /i FA9 |2
(@ C
(b) D

(c)E
(d)A
(e)B

Q29. F & fra=r e Wt 87
(a) i

(b) =T

()=

(d) o=

(e) TF

Q30. D, E 3fiX F % <1 & TIT F4T §?
(a) 122 eI
(b) 242 TFaRITH
(c) 120 et
(d) 142 Tt
(e) 182 ety

Directions (31-35) : Ruferfea sterafi 1 samgds sreaae a2 3T i fw 1 o 3 Sec =
W3T8Y67P9X75K8LB47Z39K5L2M794ED91]JK5X7Z

Q31. fFaq &< F Sk AT 99 HEAT St g7
(a) TF
(b) &=
(c) o=
(d) =
(e) BT

Q32. 3T g\ a1 fww deamst & geT < af Mufoiiaa # & F:19-a1 a7 I8 G ¥ 9199 acd & 914 9 6
I I §?

(a) 2

(b) L

()M

(d)8

(e)B
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Q33. frast sToTeT =TSN o 3 U T AT 872
(a) 3

(b) &1

()T

(d) =13

(e) ==

Q34. I HEATIAT T AW AT § ST ITG H F ATAET 3N IC FL F qi=a1 82
(a) 8
(b) 9
(c)12
(d) 11
(e) 15

Q35. fFra Y a9 S=ATSl * S qTS T AT 3T S Tgol T &< T 872
(a) T TEH

(b) A=

(c) =T

(d) =T & At

(e) =T

Directions (36-40) : 1= faaT =T o172 a1 9= a9 § I (X 3} Y) RS et & s=niRay f 5 ge
LT §1 T UTE FT LATIES TR i 7wt 3 I i)

1400

1200

1000

800

600

400

200

2011 2012 2013 2014

HinX WinY
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Q36. 2014 § TIST A |, FHATAT it TN G&AT 2012 § Y | FHATRAT FT o €647 & 30% 1fe= g1 I
2012 § €757 A § T FHATY 2014 F X & FT FHATIET DT AT | 40% 19 §, AT 2012 3T 2014 |
ST A F T FHATY & o1 HT FAL AT HI1Q)

(a) 256

(b) 354

(c) 396

(d) 316

(e) 336

Q37.2011 H AT TSAT A TN FHATL 2014 & AT TSAT H For woAT AT & Fovaey wfaera (-rsm) w7
82

(a) 4%

(b) 2%

(c)1%

(d) 6%

(e) 10%

Q38. IR 2013 § X H TXW & ATRAT FHATRIAT FT ATITT 15: 85 MT 2014 F Y F T29 FHATRIAT &7 AIRAT
FHATRAT & AATT 7: 48, AT 2013 § X § T [/ FHATRAT < 2014 H Y H FT ATAT FHATRAT & S
CEEEI AT

(a) 150

(b) 170

(c) 160

(d) 190

(e) 210

Q39.2011 # YH F& FHATIAL T 2012 H I GSA1 A T FHATAT & SATITA AT I o7
(a) 8:29
(b)8:27
(c)8:31
(d)8:25
(e)27:8

Q40. Af< 2013 ¥ €A ZH T FHAL, 2013 H Y H T FHATAT
&t qAAT § 270 ATAF g, AT 2013 H TST Z F T HHART 2014 F

X ¥ F FHATTET o fovar afaera srfaes §2

(a) 40% ALL EXAMS,

(b) 60% ONE SUBSCRIPTION.
(c) 80%

© 50 i olO
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Q41. TTT IEY TF FTH HT 16 AT # FT Toha g, ot g Afgard ST Fra #r 24 *’AT § < a1 &1 719
FfvrT & = Tew @ 9 afiRerd e SHET S F1 < [ET hae KA w9 w1 awd 82

(a) 34 fe=

(b) 32.5 fa=

(c)37.5 =

(d) 35.5 fe=

(e) 31.5 fa=

Q42. TH AEHT T 18% T o FiY IT & T AT I, 1= a1 & g, X w0F v [aer fFwm aror &
I 12% Y T it T T GTETN A9 I I 9 & g Y T4 &1 Ao ] afe o3 X & afr .=
TTH T AT, Y e 92 9T 1 AT & 450 €93 3ffds @ s X, Y & 1500 93 7 ¢ av (X+Y) 1q
ISRy

(a) 12500 =7

(b) 8500 =

(c) 11500 93

(d) 10500 &9

(e) 9500 =T

Q43. TF F&T H 200 F=medT § ™H 64% A=+ €l AT TAF T i ATAF o6 250 €. g ST TIAF
ASHT T ATIAF Lo TAF ASh il TAAT A 20% FH &, AT ASHI 3N FASTHAT G AT Y T8 FT o
(TT2 /) s ffcA?

(a) 46400

(b) 42400

(c) 48400

(d) 42500

(e) 41400

Q44. TH 59 H U 3T ITHT T AT FH: 5 : 4 % AquTd | g1 A< FHsyor =61 20% [eprer forgr smam
3 AW Frsror # 40 e & g7 T fian Srar €, 9 g T I A Aq9T 7 2 4 8 AT 8| LEH qAT d
T &t /AT (e ®) 19 i)

(a) 225

(b) 125

(c) 175

(d) 75

(e) 275

Q45. R 51 ® W w1 it rfq 77 fFefi/sier {1 afe a1 g & & g 45 Gt it g qw v 7 o
TAT Y 19 G0 410 & Yiaga 27 Fh 6t @ a7 v | forg 7¢ a9 F 9e< g, 9 9T #@ af|
(/e ®) sa fifcw
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(a) 19.25
(b) 17.25
(c) 15.25
(d) 12.15
(e) 11.25

Q46. 73 fa ai= Rafiy a A B dFerd AT AT @ gl Tgar &1

AT F AR § AT A qT AR A ST T 20 § ST sifaw &7 I # G § W0 A e A0 bt
O GEAT 24 g1 T T a1 AT & AR AR A9 a1 AT A ST ST 23 B, ar ek i aia
H AT AN a7 ATt o G&AT TTT HIIQ)

(a) 37

(b) 33

(c) 31

(d) 29

(e) 27

Q47. TF T FT &TwA 196 T at gl IS el a7 Fit FBrsar ot i s F Tax 8, A 97 F7 4%t (T
+ft #) s ST

(a) 346.5

(b) 616

(c) 1386

(d) 154

(e) =TH | FIs Aal

Q48. TH ¢ Fit A 72 FHi/eieT g ik 48 32 e # 400 HieX A WEHH HT I FAT gl T T FAT8
(Hrex #) st A

(a) 240

(b) 180

(c) 140

(d) 280

(e) 480

Q49. TF THIMEL 7 TF T& 1 720 T9F ifhe B afiw 222 o it e €| a=a 997 98 20% i g1 g2

3
HEGECREESEIERE KR
(a) 600
(b) 500
(c) 640
(d) 675
(e) 650
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Q50. TH 7 6000 TqF FT GS{T F ATA TH HIETT L& FHAT T A TGN & 7%, ¥ (6000 + X) T0F it
YT % 9T S AT [ AT TF 99 & q H, TH 3T [E & AT & S #7 squra 9:10 g1 X &7 977 91
F(TIAH) ?

(a) 4800

(b) 6000

(c) 3000

(d) 4000

(e) 2000

Directions (51-55) : T 7q fgema o i g g sf oo ST F g ax aat fAwew 9w [
ALY

Q51.

Lx* +6x +5=0
.y +6y +8 =0
(a) x>y

(b) xzy

(c) x<y

(d) x =<y

(e) x = y IT &Is Hae Gl

Q52.

Lx* —9x +14 =0
I.y* — 16y +63 =0
(a) x>y

(b) xzy

(c) x<y

(d)x=sy

(e) x = y AT FIE Hael Al

Q53.
Lx>—10x +21=10
IL. 6y* — 23y +20= 0

(a) x>y
(b) x2y
(c) x<y
(d) x =y
(e) x = y AT FIS Hael Al
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Q54.
Lx2—15x+54=0

IL y2- 21y + 108 =0
(a) x>y

(b) x=y

(c) x<y

(d)xsy

(e) x = y IT &Is Hae A&l

Q55.

Lx*+x-72=0
ILy:-19y+90=0

(a) x>y
(b) xzy
(c) x<y
(d) x =<y
(e) x = y IT &Is Hae Gl

Directions (56-60) : R=fifea e sigar & Tora &7 [19 g

Q56.22, 32, 52, 92, 172, 272, 652
(a) 652
(b) 272
(c)172
(d)92
(e) 32

Q57.5, 15, 60, 300, 1800, 12600, 100080
(a) 300

(b) 60

(c) 15

)5

() 100080

Q58.12, 36, 90, 180, 270, 405, 135,
(a) 270
(b) 36
(c) 405
(d) 12
(e) 135
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Q59.3, 10, 36, 99, 223, 440, 780
(a) 440
(b) 10
(c) 36
(d) 99
(e) 223

Q60.484, 340, 240, 176, 130, 124, 120
(a) 340
(b) 240
(c) 130
(d) 124
(e) 120

Q61. 371 — 453 + 67+7= 243
(a) 239
(b) 258
(c) 246
(d) 251
(e) 233

7—90 =+/841 —+/529
Q62.

(a)92
(b) 101
(c)98
(d) 95
(e) 96

Q63. V74 540 = 512 + 800 x 850
(a) 216

(b) 512

(c) 125

(d) 343

(e) 64

2 _ .
Q64-.? =18xX 42+ 126 X35+ 19X 6

(a) 12
(b) 18
(c) 16
(d) 15
(e) 14
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q6s, (7 - 108) + (1250) &1 12% = (22)°

(a) 404
(b) 444
(c) 442
(d) 428
(e) 454

Q66 240 + 490 - ? &1 25% = (15)*

(a) 2000
(b) 2250
(c) 2025
(d) 2020
(e) 2180

840+ 140 + 1440 + = 4 20 =7
Q67. 10

(a) 1226
(b) 1252
(c) 1369
(d) 1331
(e)1121

g 572 + 648 — 820 =7x 16

(a) 20
(b) 21
(c) 28
(d) 24
(e) 25

Q69, 127 +32° —13° +40° =2

(a) 592
(b) 563
(c) 551
(d)571
(e) 536

Q70 7°=972+ 108 + 110HT160% + 6

@9
(b) 8
(c) 6
(d) 5
(e) 4
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Directions (71-78) : Read the given passage and answer the following questions.

The tourism experience economy has a cohesive effect on Danish society. Almost all jobs created as a
result of tourism are in the service sector, and are distributed across all parts of the country. One of the
characteristics of tourism-generated employment is that it also creates jobs for people with short-cycle
education and for a great many non-ethnic Danes. As such, tourism has created channels for growth and
welfare at every level of Danish society. In relation to its neighbouring countries, Denmark has a
relatively large tourism industry. However, growth in Danish tourism has stagnated in justrecent years.
Spotting the period of 2007-2012 we can see Denmark experienced a recession in international
tourism, while Europe as a whole enjoyed growth. However, this negative trend spans a dual reality.
While Denmark has achieved growth in city and business tourism, it has suffered a significant decline
in coastal and nature tourism.

If Denmark is to gain a larger share of the growth in city and business tourism and reverse the trend in
coastal and nature tourism, there is a need to step up its tourism promotion efforts. The price of tourism
services is a key competitive parameter globally, but since Denmark is neither willing nor able to
compete on wages or conditions of employment with countries such as Bulgaria and Thailand, its
competitiveness in the tourism industry must necessarily be based on other parameters such as
positive experiences, superior quality, and excellent service. Denmark's strengths must be given greater
visibility in order to unlock the potentials of international tourism where tourists from the new growth
markets such as Russia and China are increasingly prominent. On the one hand, the immediate
potentials and strengths within city tourism and business tourism must be maximised; on the other
hand, Denmark needs to address the positions of strength and intrinsic, product-related challenges
prevailing within coastal tourism and in relation to its neighbouring markets, including, not least, the
sizeable German market. The Growth Team for Tourism Experience Economy has the
creation of a strong organisation and concerted nationwide strategy. The tourism promotion efforts are
to be organised to achieve greater effect from the investments made.

Q71. What is/are the importance of tourism for Danish society?

(a) Service based jobs produced through tourism industry have been scattered all around the country.
(b) It has created job opportunities even for low educated and non-native Danes.

(c) Itis an efficient driver for growth and prosperity for Denmark.

(d) Only (a) and (b)

(e) All of these

Q72. How has tourism in Denmark changed in recent years?

(a) Coastal and nature tourism suffered a decline due to decline in city and business tourism.

(b) City and business tourism saw a rise dues to growth in overall tourism in Denmark.

(c) There has been a decline in coastal and nature tourism, while city and business tourism grew.
(d) The unprecedented disruptions due to covid induced pandemic has affected tourism severely.
(e) None of these

Q73. Which of the following set of information is true with respect to the data given in the
passage?

(A) Due to its impenetrable terrains, Denmark has always been lagging in tourism.

(B) The expense of tourism is a crucial determinant for growth in tourism.

(C) Europe in the recent years has seen a significant decline in its tourism industry.
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(a) Only (A)

(b) Only (B)

(c) Only (C)

(d) Only (A) and (C)
(e) All of these

Q74. What should be the key priorities for Denmark to revamp its tourism industry?
(a) Focusing on superior quality and excellent services

(b) Providing positive traveller experiences

(c) Restoring coastal tourism by addressing challenges prevalent in that region

(d) Strengthening city and business tourism

(e) All of these

Q75. Which of the following information is FALSE as per the passage?

(a) Russian and Chinese tourists have grown in number as a result of their growing economies.

(b) Denmark needs to address its internal challenges in order to achieve maximum growth in tourism.
(c) Investments should be rightfully utilized through better tourism promotional events.

(d) Bulgaria and Thailand have achieved remarkable a feat with their low-cost tourisms.

(e) None of these

Q76. Which of the following words is most similar in meaning to the word “just” as is highlighted
in the passage?

(a) considerably

(b) merely

(c) absolutely

(d) inertly

(e) supposedly

Q77. Which of the following words can most appropriately fill the blank given in the passage?
(a) furnished

(b) dejected

(c) repudiated

(d) recommended

(e) published TeSt

Q78. Which of the following words is most similar in meaning ’m

to the word “spotting” as is highlighted in the passage?

(&) expecting ALL EXAMS,

(b) referring ONE SUBSCRIPTION.

(c) denying

@ notcng 2060080
(e) noticing Y O Q
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Directions (79-83) : In the following questions, a part of the sentence is given in bold which may
or may not be fitting into the sentence either due to grammatical error or contextual error.
There are four expressions given below each sentence, out of which one of them can be used to
replace the existing highlighted phrase to make the sentence both grammatically and
contextually correct. Choose the most appropriate alternative among the five options that
determine the correct phrase that should replace the phrase given in bold. If the phrase given in
bold doesn’t require any replacement, choose option (E) as your answer.

Q79. He was talking gibberish about things and would walk for mutter to himself all the time.
(a) walk for mutter by himself

(b) walk off muttering to himself

(c) walk of muttering to him

(d) walk about muttering to itself

(e) No replacement needed

Q80. Stomach acid assists with helping the food with digest before it passes to the small intestines
for further action.

(a) assist helping the food for

(b) assist with help the food for

(c) assists with helping the food to

(d) assists with helped the food in

(e) No replacement needed

Q81. During his inaugural speech last week, the new president discusses his goals and plans for the
nation.

(a) the new president will discuss him

(b) the new president discussed his

(c) the current president discusses his

(d) the incumbent president discusses his

(e) No improvement needed

Q82. Unable to secure enough votes to win in his district, the politician decided to not participate in
elections any farther.

(a) to not participate in elections any further

(b) to not participate in elections more farther

(c) to not participate for elections any farther

(d) to not participated in elections any farther

(e) No improvement needed

Q83. Since there was no way to modify the document, the paralegal had to complete retype it.
(a) the paralegal had to complete retyped it

(b) the paralegal has to complete retype it

(c) the paralegal had to completely retype it

(d) the paralegal has to completely retype it

(e) No improvement needed
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Directions (84-87) : In each of the given sentences, four words have been highlighted which may
or may not be presentin the correct order of narrative in the sentence. Choose the option in each
question that gives the set of interchanges of words required to make the sentence
grammatically and contextually correct.

Q84. Because (A) there have been undergoing (B) clinical trials on the new treatment, few (C) the
procedure is risky (D) .

(a) Only (A) -(D)

(b) Only (D) -(B)

(c) Only (B) -(C)

(d) (B) -(D) and (A) -(C)

(e) No interchange required

Q85. To disguise (A) his identity (B) from his fans, the actor often wears (C) a conceal (D) in public.
(a) Only (C) -(A)

(b) Only (B) -(A)

(c) (A) -(C) and (B) -(D)

(d) Only (A) -(D)

(e) No interchange required

Q86. The students (A) were mere (B) when their baseball team won a frustrated (C) two games by
the end (D) of the league.

(a) Only (C) -(D)

(b) Only (B) -(C)

(c) Only (A) -(B)

(d) (A) -(D) and (B) -(C)

(e) No interchange required

Q87. Because of his interesting (A) library (B), the student learned lots of curious(C) information at
the nature (D).

(a) Only (B) -(D)

(b) Only (D) -(A)

(c) (A) -(D) and (C) -(B)

(d) (C) -(A) and (B) -(D)

(e) No interchange required

Directions (88-92) : In each of the questions below, a blank has been given. Following the
sentence, five options have been given. Find out which of the following options will fit in the
sentence.
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Q88. Each agency is responsible for in its own funds and figuring out a way to
continue operations

(a) receiving

(b) giving

(c) bringing

(d) accepting

(e) managing

Q89. Litigious by nature, everyone the boy would one day become a prominent
attorney.

(a) assumed

(b) concerned

(c) dedicated

(d) included

(e) involved

Q90. The feudal king held grand feasts at his home and royalty to dine at his table.
(a) initiated

(b) decorated

(c) deserved

(d) invited

(e) devoted

Q91. Carelessness during Diwali celebrations can your own safety.
(a) prompt

(b) exhibit

(c) thrive

(d) endanger

(e) ignite

Q92. When God created this planet, he had a/an purpose for all living things.
(a) ample

(b) specific

(c) juncture

(d) prevailed

(e) abandoned

Q93. In each of the questions given below, four sentences have been given. One out of four
sentences may or may not be error-free. Find out which of the following sentences, if any, is
error-free. If all the given sentences have errors then mark “All are incorrect” as your answer.
(a) Drainage systems and its maintenance, if neglected, could pose a threat to the community.

(b) We have a deep connections to music because it is hardwired in our brains.

(c) People whom work irregular schedules may find getting quality sleep challenging.

(d) Heart pumps blood through the blood vessels of the circulatory system.

(e) All are incorrect
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Q94. In each of the questions given below, four sentences have been given. One out of four
sentences may or may not be error-free. Find out which of the following sentences, if any, is
error-free. If all the given sentences have errors then mark “All are incorrect” as your answer.
(a) Lending activities can be direct performed by the bank.

(b) Dyeing and embroidery are different decorative arts applied to textile materials.

(c) Punjab is a region that over the centuries has experience many foreign invasions.

(d) Volcanoes are often founds where tectonic plates are diverging or converging.

(e) All are incorrect

Q95. In each of the questions given below, four sentences have been given. One out of four
sentences may or may not be error-free. Find out which of the following sentences, if any, is
error-free. If all the given sentences have errors then mark “All are incorrect” as your answer.
(a) Tomorrow you should graze your buffaloes far away.

(b) Much universities and junior colleges also offer goldsmithing.

(c) The stepmother is very sadistic and makes Tam to do all the housework.

(d) Illusions may occur with any of the human sense.

(e) All are incorrect

Directions (96-100) : The following five sentences have been given which aren’t in their correct
order. Rearrange them in the correct sequence to make a meaningful paragraph then answer
the questions given below.

(A) Natural selection is the process through which populations of living organisms adapt and change.
(B) Evolution is the process by which living organisms evolve from earlier times.

(C) This variation means that some individuals have traits better suited to the environment than others.
(D) According to the scientist Charles Darwin, evolution depends on a process called natural selection.
(E) Individuals in a population are naturally variable, meaning that they are all different in some ways.

Q96. Which is the SECOND sentence after rearrangement?
(@A
(b) B
(0 C
(dD
(e)E

Q97. Which is the LAST sentence after rearrangement?
(@A
(b) B
(ccC
(d)D
(e) E
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Q98. Which is the THIRD sentence after rearrangement?
(@) A
(b) B
(0 C
(d)D
(e)E

Q99. Which is the FIRST sentence after rearrangement?
(a) A
(b) B
(@C
(d)D
(e)E

Q100. Which is the FOURTH sentence after rearrangement?
(a) A
(b) B
(@C
(d)D
(e) E
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$1. Ans.(b)
Sol.
S
Q
U R
P w
T
S$2. Ans.(d)
Sol.
S
Q
U R
P w
T
S3. Ans.(c)
Sol.
S
Q
U R 'm
ALL EXAMS,
ONE SUBSCRIPTION.
P w

T 180 Q@0
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S4. Ans.(b)
Sol.
S
Q
U R
P w
T
$5. Ans.(a)
Sol.
S
Q
U R
p w
T
S6. Ans.(b)
Sol.
(St Trouser y—¢—CCoat_Lpant >
S7. Ans.(c)
Sol.
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S8. Ans.(d)
Sol.

S9. Ans.(c)
Sol.
QDFK
X
]é{ L G
+1+1+1+1
$10. Ans.(a)
Sol.
Designation | Person
MD A
GM G
DGM B
AGM E
Manager D
PO C
0A E
S11. Ans.(d)
Sol.
Designation | Person
MD A
GM G
DGM B
AGM F
Manager D
PO C
0A E
S12. Ans.(d)
Sol.
Designation | Person
MD A
GM G
DGM B
AGM E
Manager D
PO C
0A E
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S13. Ans.(c)
Sol.

Designation | Person
MD A
GM
DGM
AGM
Manager
PO
0A

Mo |8 |||

S14. Ans.(a)
Sol.

Designation | Person
MD A
GM
DGM
AGM
Manager
PO
0A

mio|o|m|m| o

S15. Ans.(b)

Sol.
I: B=K(False)
II: D=M[True)

$16. Ans.(a)
Sol.

[: L=M(True)
II: Hz](False)

$17. Ans.(b)
Sol.

A(-)=V(+) T

W) =X(+)=—Y(-)=Q(+)

R(-)
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$18. Ans.(c)
Sol.
A(-)==V(+) T

WH=X)—Y()=Q(+)

R(-)
$19. Ans.(d)
Sol.
A(-)=V(+) T

WH=X(+)—Y(-)==0Q(+)

R(-)

$20. Ans.(d)

Sol.

s R T QP
|

]

! ! ! ! Row-1

bl ROW-2

S21. Ans.(b)

Sol.

s R T QP
|

!

! ! ! ! Row-1

b ROW-2
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$22. Ans.(a)

Sol.

S R T QP
——+—1} row1

+—+—+—t+— Row=
E D A CB

$23. Ans.(c)

Sol.

S R T QP
+——+} rowa
1 Row=2
E D A C B

S24. Ans.(e)

Sol.

S R T Q P
+——— rowa

- Row2
E D A C B

$25. Ans.(b)

Sol. There is only one letter between C and A.

$26. Ans.(a)
Sol. WRAP PACK CAMP BULK BELL

$27. Ans.(d)
Sol.

PACK WERAP BELL CAMP BULK
DACK VEAP AELL BAMP AULK

$28. Ans.(c)
Sol. D(72kg) > C > E(68kg) > A > B > F(42kg)

$29. Ans.(d)
Sol. D(72kg) > C > E(68kg) > A > B > F(42kg)
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$30. Ans.(e)
Sol. D(72kg) > C > E(68kg) > A> B > F(42kg)

$31. Ans.(c)
$32. Ans.(b)
$33. Ans.(d)
S$34. Ans.(b)
$35. Ans.(e)

$36. Ans.(b)
Sol.
130

Total employees in organization A in 2014 = 1080 X Too = 1404

Total employees in organization A in 2012 = 750 x % = 1050

Required difference = 1404 - 1050 = 354

$37. Ans.(b)
Sol.

Total employees in both organizations in 2011 = 850 + 640 = 1490
Total employees in both organizations in 2014 =750+ 770 = 1520

Required percentage = % 100 =1.97 &~ 204
$38. Ans.(b)
Sol.
Total male employees in X in 2013 = 690 x (1;5_3} =450
Total female employees in ¥ in 2014 =770 % {?;) =280
Required difference = 450 — 280 = 170
$39. Ans.(a)
Sol.
Required ratio =640 : (1240 + 1080) =8:29
$40. Ans.(b)
Sol.
Total employees in organization Z in 2013 =930+ 270 = 1200
Required percentage = % % 100 = 60%
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S$41. Ans.(e)
Sol.

Let efficiency of a man and a woman be ‘m’
unit/day and w unit/day respectively

ATQ -

Tm X 16 = 6w x 24

m:w=9:7

Let one day work of a man be 9a unit/day
And, one day work of a woman be 7a unit/day
Total work =7 X9a X 16 = 1008a unit

1008ax2 _ o, ¢ days

Required time = ——
4x9a+ixTa
S42. Ans.(d)

Sol.

Given,X =Y - 1500 ——— (i)

ATQ -
18x5 12x5

Xx -Y X =450
100 100

3X-2Y=1500 ------- (ii)

From (i) and (ii) we get

4X =3Y

From (i) we get -

X=4500

Y =6000

So, (X+Y) = (4500 + 6000) = 10500 Rs.

$43. Ans.(a)
Sol.

Total boys in class = 200 x % =128
Total girls in class = 200 - 128 =72
Fee paid by each girl = 250 x % = 200

Required amount = (250 X 128 + 200 x 72) = 46400 Rs.

S$44. Ans.(b)
Sol.

Let total mixture vessel contains initially = 90x
So, quantity of milk initially = 90x X g = 50x
And, quantity of water initially = 90x X Z = 40x

2004 of total mixture = 90x x % = 18x
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ATQ -

E
EE.::'—J.B.!:'!'{:J—I-‘!D 7

Jl-ﬂl.r—iﬂ.rx% 4
160x + 160 =224x
64x =160
x = 2.5 liters

So, quantity of milk initially = 50 x 2.5 = 125 liters

$45. Ans.(a)
Sol.

Let speed of stream be 'y' km/hr
ATQ -
45 27
TT+y  TT-y
385 -5y =231+ 3y
8y =154
v =19.25 km/hr

$46. Ans.(e)
Sol.

Total number of people attending seminar on
all five days =23 x 5 = 115

Total number of people attending seminar on
third day = 115 - [(20 X 2) + (24 x 2)] = 27

$47. Ans.(b)
Sol.

Let side of square = a cm
Given, aZ=196

a=14cm

So, radius of circle = 14 cm

Required area = ¥ ® 14 % 14 = 616 cm?

$48. Ans.(a) ‘m
Sol.

Let length of train be ‘L’ meters

ATQ - ALL EXAMS,
79 % 5. = 200+L ONE SUBSCRIPTION.
18

Y
640 =400+ L

H N\
L = 240 meters @ @
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$49. Ans.(a)
Sol.

Selling price of the article = 720 x g = 480 Rs.

Cost price of the article = 480 X % = 600 Rs.

$50. Ans.(d)
Sol.
ATQ -
6000 %12 _ 9
(6000+X)%8 10
6000 X 12 X 10 = (6000 + X) X 8 X 9
X =Rs.4000

S$51. Ans.(e)
Sol.

Lx>+6x +5=10

¥ +x45x +5=0
x(x+1)+5(x+1)=10
(x+1)(x+5 =0
xr = —1,-5

ILy* +6y +8 =0
v: 4+ 4y+2y +8 =0
yiv+4)+2(y+4) =0
(v+2)y+4)=0

y = —2,—4

So, no relation.

$52. Ans.(d)

Sol.

Lx* —9x +14 = 0

¥ —Tx —2x +14 =0
x(x—7)-2(x—-7)=0

(x—2)x—-7)=0

x = 2,7

IL.y: — 16y +63 =10

y' — 9y —7y +63=10
y(y—9)-7(y—9) = 0
(y-7)y-9)=0

v =179

So,x =< y.
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S53. Ans.(a)

Sol.
Lx*—10x +21= 0
xX—7x—3x +21=0
x(x—7)-3(x-7)=0
(x—3)(x—7)=0
x = 3,7
IL 6y* —23y +20= 0
6y2 —8y — 15y +20= 0
2y(3y —4)—-53By—-4)=0
(2y —5)(3y—4)=0

S$54. Ans.(d)
Sol.

L X2-9x—6x+54=0
x(x—9)-6(x—9)=0
x—6)(x—9)=0
x=9,6

1. y2- 12y — 9y + 108 = 0
yly-12) -9(y —12) =0
(y-12)(y-9)=0
yv=9,12
So,X=¥

$55. Ans.(c)

Sol.
Lx®+9x-8x-72=0
x(X+g]'8[x+ 9}:[}
(x-8)(x+9)=0
x=8, -9
ILy>-10y-9y+90=0
y(yv -10)-9(y-10)=0
v-9)(y-10)=0
y=910
S0, X < ¥V

$56. Ans.(b)

Sol.
Wrong number = 272

Pattern of series -

22+10=32

32+ 20=52

52+40=92

92 +80=172

172 +160=332

332 +320=652

S0, 332 should come in the place of 272
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$57. Ans.(e)
Sol.

Wrong number = 100080
Pattern of series -

5x3=15
15 x4 =60
60 x 5 = 300

300 x 6 = 1800

1800 x 7 = 12600

12600 x 8 = 100800

So, 100800 should come in the place of 100080

$58. Ans.(c)
Sol.

Wrong number = 405
Pattern of series —

12 %3 =36

36 x25=90

90 x 2 = 180

180 x 1.5 = 270

270 x 1 =270

270 x 0.5 = 135

So, 270 should come in the place of 405

$59. Ans.(a)
Sol.

Wrong number = 440

Pattern of series -

3+(22-1)=10

10 + (33 - 1) = 36

36 + (43-1) =99

99 + (53 - 1) = 223

223 + (6% - 1) =438

438+ (73-1) =780

So, 438 should come in the place of 440

$60. Ans.(c)

Sol.

Wrong number = 130
Pattern of series -
484 - 122 =340

340 -102 =240
240-82=176

176 - 62 =140

140 -42=124

124 -22=120

S50, 140 should come in the place of 130
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S61. Ans.(b)

Sol.

?7=243 — 67 — 371 + 453
7= 258

$62. Ans.(e)

Sol.
T=29-23+90
?7=96

$63. Ans.(e)

Sol.

Y7 =512 xﬁx 850 — 540
V7= 544 — 540

V7=4

7= 64

S$64. Ans.(b)
Sol.

1
72 =18%x42x —x 35+ 114
126

72 =210+ 114
72 =324
7= 18

$65. Ans.(c)

Sol.

(7-108) + —x (1250) = (22)°
7-108 = 484 — 150

7= 442

$66. Ans.(d)
Sol.

240 + 490 - 25% of ? = (15)°
240 + 490 - 225 = =X

100
7=2020

S$67. Ans.(a)
Sol.

ﬁ+144n>-<£+ 20="7
7=1226
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S$68. Ans.(e)
Sol.

1220 — 820 =7x 16
400

PT=—

18
7= 25

$69. Ans.(d)
Sol.

7=144 + 1024 — 2197 + 1600
7= 2768 — 2197
?7=571

$70. Ans.(a)
Sol.

72 =94 60 X110+ 6
T 100

72 =81
=9
S$71. Ans.(e)

Sol. Refer to the first few lines of the first paragraph to get the answer of the following question, “Almost
all jobs created as a result of tourism are in the service sector, and are distributed across all parts of the
country. One of the characteristics of tourism-generated employment is that it also creates jobs for
people with short-cycle education and for a great many non-ethnic Danes. As such, tourism has created
channels for growth and welfare at every level of Danish society.”

$72. Ans.(c)

Sol. Refer to the first paragraph to answer the following question, “However, this negative trend spans
a dual reality. While Denmark has achieved growth in city and business tourism, it has suffered a
significant decline in coastal and nature tourism. “

$73. Ans.(b)

Sol. Only statement (B) is true.

For (A) : Refer to the first paragraph, “In relation to its neighbouring countries, Denmark has a relatively
large tourism industry.”

For (B) : Refer to the second paragraph, “The price of tourism services is a key competitive parameter
globally, ...”

For (C) : Refer to the first paragraph, “Spotting the period of 2007-2012 we can see Denmark
experienced a recession in international tourism, while Europe as a whole enjoyed growth.”

S$74. Ans.(e)
Sol. Refer to the complete second paragraph to answer following question.
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$75. Ans.(e)

Sol.

For (a) : Refer to the second paragraph, “Denmark’s strengths must be given greater visibility in order
to unlock the potentials of international tourism where tourists from the new growth markets such as
Russia and China are increasingly prominent.”

For (b) : Refer to the second paragraph, “On the one hand, the immediate potentials and strengths
within city tourism and business tourism must be maximised; on the other hand, Denmark needs to
address the positions of strength and intrinsic, product-related challenges prevailing within coastal
tourism and in relation to its neighbouring markets, including, not least, the sizeable German market.”

For option (c) : Refer to the second paragraph, “The tourism promotion efforts are to be organised so
as to achieve greater effect from the investments made”

For option (d) : Refer to the second paragraph, “The price of tourism services is a key competitive
parameter globally, but since Denmark is neither willing nor able to compete on wages or conditions of
employment with countries such as Bulgaria and Thailand, its competitiveness in the tourism industry
must necessarily be based on other parameters such as positive experiences, superior quality and
excellent service.”

$76. Ans.(b)

Sol. ‘merely’ is the synonym of ‘just’.

Considerably: by a notably large amount or to a notably large extent; greatly.
Merely: just; only.

Absolutely: with no qualification, restriction, or limitation; totally.

Inertly: lacking the power to move

Supposedly: according to what is generally assumed or believed

$77. Ans.(d)

Sol. Furnished: be a source of; provide.

Dejected: sad and depressed; dispirited.

Repudiated: refuse to accept; reject.

Recommended: advised or suggested as good or suitable.
Published: prepared and issued for public sale or readership

$78. Ans.(e)

Sol. Expecting: regard (something) as likely to happen.
Referring: mention or allude to.

Denying: state that one refuses to admit the truth or existence of.
Accepting: consent to receive or undertake (something offered) .
Noticing: become aware of.

$79. Ans.(b)

Sol. The correct option is (b) . ‘Walk off’ means to go away, especially without warning. The sentence is
in “verb with object” structure. Ex- Only one person admitted seeing him last night. The structure for
this kind of sentences is ‘subject+ v-ing+ object”. Thus, “muttering” is correct here. ‘himself is the right
choice of word as the sentence suggested the asked person mutter to himself all the time.
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$80. Ans.(c)

Sol. The correct option is (c) . Here ‘stomach acid’ is singular thus singular verb ‘assists’ is correct.
‘Assists” followed by “with” preposition. The structure should be “with+ v-ing”. Thus, “helping” is
correct.

$81. Ans.(b)

Sol. The only error in the sentence given in the highlighted part is regarding the usage of “discusses”.
As can be noted here, inaugural speech is an event that has already occurred in the past. The tense of
the part of the sentence describing the event would also be in the past tense. Thus, option (b) is the
answer as no other errors exist in the sentence and only option (b) gives the correct improvement
needed in the sentence.

$82. Ans.(a)

Sol. The usage of “farther” makes the sentence erroneous, and the word should be replaced with
“further”. As adverbs the two words continue to be used interchangeably whenever spatial, temporal,
or metaphorical distance is involved. But where there is no notion of distance, further is used.

Thus, option (a) is the answer as no other errors exist in the sentence and only option (b) gives the
correct improvement needed in the sentence.

$83. Ans.(c)

Sol. “Complete”, and adjective, should be replaced by the adverb “completely” as the word is to be used
to describe the verb “retype”. Only an adverb can be used to describe verbs. Thus, option (c) is the
answer as no other errors exist in the sentence and only option (c) gives the correct improvement
needed in the sentence.

$84. Ans.(c)
Sol. The correct sentence after rearrangement of words would be, “Because there have been few clinical
trials on the new treatment, undergoing the procedure is risky.”

$85. Ans.(d)
Sol. The correct sentence after rearrangement of words would be, “To conceal his identity from his fans,
the actor often wears a disguise in public.”

$86. Ans.(b)
Sol. The correct sentence after rearrangement of words would be, “The students were frustrated when
their baseball team won a mere two games by the end of the league.”

$87. Ans.(d)
Sol. The correct sentence after rearrangement of words would be, “Because of his curious nature, the
student learned lots of interesting information at the library.”

$88. Ans.(c)

Sol. The correct choice is “bringing”, as “bringing in” is the only valid collocation among the given
choices that makes the context complete. It is a phrase in itself and is defined as “making money;
producing as profit or return”.
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“Giving in”, whereas is defined as “delivering”, “submitting” or “surrendering”.

None of the other words are used with the preposition “in”, but the definitions of these words are
mentioned below regardless.

receiving - coming into possession of

accepting - receiving (something offered) willingly

managing - handling or directing with a degree of skill

$89. Ans.(a)

Sol. The definitions given below help understand the choice of answer.

assume - to take as granted or true; supposed

concern - to relate to; be about

dedicate - to set apart to a definite use

include - to take in or comprise as a part of a whole or group

involve - to engage as a participant

Only “assumed” has the most appropriate meaning while being correct in usage when substituted.

$90. Ans.(d)

Sol. The definitions of the words are given below for further reference.

initiate - to cause or facilitate the beginning of

decorate - to add honour to

deserve - to be worthy of

invite - to request the presence or participation of

devote - to commit by a solemn act

The sentence does not lack context and thus it is very apparent what word the blank requires to make
the sentence complete and meaningful. Looking over the definitions of the words helps understand why
“invite” was the word lacking in that position in the sentence.

$91. Ans.(d)

Sol. The correct word for the given blank is ‘endanger’.

(a) prompt: cause or bring about (an action or feeling) .

(b) exhibit: publicly display (a work of art or item of interest) in an art gallery or museum or at a trade
fair.

(c) thrive: grow or develop well or vigorously

(d) endanger: put (someone or something) at risk or in danger.

(e) ignite: catch fire or cause to catch fire.

$92. Ans.(b)

Sol. The correct word for the given blank is ‘specific’.
(a) ample: enough or more than enough; plentiful.
(b) specific: clearly defined or identified.

(c) juncture: a particular point in events or time.

(d) prevailed: prove more powerful or superior.

(e) abandoned: having been deserted or left.
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$93. Ans.(d)

Sol. Sentence (d) is error-free out of all sentences. In option (a) , possessive pronoun ‘its’ should be
replaced with ‘their’ for plural noun ‘drainage systems’. In sentence (b), either ‘a’ should be removed
or ‘connection’ should be in the singular form. In option (c) , ‘whom’ should be replaced with ‘who’
because ‘who’ functions as a subject, while whom functions as an object.

S94. Ans.(b)

Sol. In sentence (a), ‘direct’ should be replaced with ‘directly’ as we need adverb here to modify verb
‘performed’. In sentence (c) , ‘experience’ after ‘has’ should be replaced with ‘experienced’ as the
sentence is in present perfect tense. In sentence (d) , ‘founds’ should be replaced with ‘found’ as we
need plural verb for plural noun ‘volcanoes’.

$95. Ans.(a)

Sol. In sentence (b) , ‘Much’ should be replaced with ‘many’ because we use ‘much’ with uncountable
noun whereas ‘many’ is used with countable noun. In sentence (c), ‘to’ should be removed because
‘make do’ is the correct phrase. In option (d), . ‘sense’ should be in plural form after ‘any of’. If you use
the phrases “one of... / each of... / any of...” they must be followed by the plural.

$96. Ans.(d)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the evolution
of living organisms. Therefore, only sentence (B) will be the first sentence that mentions the theme
‘evolution’ of living organisms. Next will be sentence (D) , which mentions that evolution depends on
natural selection. Sentence (D) will be followed by sentence (A) which mentions the natural process in
detail. Next will be sentence (E) , which mentions variation in the population. Last will be sentence (C)
which takes further the information given in sentence (E) . Hence, the correct sequence will be BDAEC.

$97. Ans.(c)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the evolution
of living organisms. Therefore, only sentence (B) will be the first sentence that mentions the theme
‘evolution’ of living organisms. Next will be sentence (D) , which mentions that evolution depends on
natural selection. Sentence (D) will be followed by sentence (A) which mentions the natural process in
detail. Next will be sentence (E) , which mentions variation in the population. Last will be sentence (C)
which takes further the information given in sentence (E) . Hence, the correct sequence will be BDAEC.

$98. Ans.(a)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the evolution
of living organisms. Therefore, only sentence (B) will be the first sentence that mentions the theme
‘evolution’ of living organisms. Next will be sentence (D) , which mentions that evolution depends on
natural selection. Sentence (D) will be followed by sentence (A) which mentions the natural process in
detail. Next will be sentence (E) , which mentions variation in the population. Last will be sentence (C)
which takes further the information given in sentence (E) . Hence, the correct sequence will be BDAEC.
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$99. Ans.(b)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the evolution
of living organisms. Therefore, only sentence (B) will be the first sentence that mentions the theme
‘evolution’ of living organisms. Next will be sentence (D) , which mentions that evolution depends on
natural selection. Sentence (D) will be followed by sentence (A) which mentions the natural process in
detail. Next will be sentence (E) , which mentions variation in the population. Last will be sentence (C)
which takes further the information given in sentence (E) . Hence, the correct sequence will be BDAEC.

$100. Ans.(e)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the evolution
of living organisms. Therefore, only sentence (B) will be the first sentence that mentions the theme
‘evolution’ of living organisms. Next will be sentence (D) , which mentions that evolution depends on
natural selection. Sentence (D) will be followed by sentence (A) which mentions the natural process in
detail. Next will be sentence (E) , which mentions variation in the population. Last will be sentence (C)
which takes further the information given in sentence (E) . Hence, the correct sequence will be BDAEC.
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